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Question Number : 1 Question Id : 5431074672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cestion Lakel - Multiple Choice Guestion
Catalogue is related to T_ibrarj; in the same way as Index is related to -

heTdlT, Teed H 94 R Gaftd 2 ford o g, . ¥ HafEe 2

Options:



chapters

books
5, THID

pretace

3. L C

contents

PREEREESH

Question Number : 2 Question Id : 5431074673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

It SPIDER is written as PSDIRE in a certain code, how would COMMON be
written in that code ?

el {9 ®re & FJUR, 37X SPIDER %! PSDIRE fora o o o ®ie &
FTER COMMON I & forar WRem 7

Options:
1 OCCMMO

3 OCMMNO
5 OCMONMN

g OCMMON

Question Number : 3 Question Id : 5431074674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Nitin ranks eighteenth in a class of 49 students. What is his rank from the last ?
49 BTET B wen § AfaT &1 w2 v 9 18497 2| 9 9 S99 W@E @l e 7
Options:

13th

1847

1



Question Number : 4 Question Id : 5431074675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the following will appear last in the DlCtlDI'lE!.ﬂ ?

9 # 9 -1 vies, T dIN H Way 915 H 3R

Options:
Prosecute

Prompt
z2.

Prostrate
=,

Prize

Question Number : 5 Question Id : 5431074676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

In the seriez of 2, 6, 18, 54, ..___what will be the 3th term ?
2,6,18,54, .. % w9 H amedl ug = § 9 @7 2R 7

Options:
4370
1
4374

7445

/434



Question Number : 6 Question Id : 5431074677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Find out the missing word from the following :
Giant : Dwart : : Genius : ?
=1 " 9 g U @I BIC
faemet : 91 ; "fcETEel ;7
Options:
Wicked

1Ef1_r|'l7l

Gentle

Idiot
g

Tiny
2] §\= l’_f'x |

Question Number : 7 Question Id : 5431074678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Guestion

Amit said, "This girl is the wife of the grandson of my mother". Who is Amit to
the girl ?

AT 9 WE, U TsS®] HY AT & UK B Uodl o | ffEd @ 99 d@sdl 9w
Hag 8 7

Options:
Father

=

1 ]

Grand Father

Husband

Father in law

4 TR



Question Number : 8 Question Id : 5431074679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

X introduces Y to someone sayving, "He (Y) is the husband of the grand
daughter of the father of my father". How iz Y related to X ?

X, Y &1 fodl | uR=y &d g0 wedl 2, 98 (Y) 9 fUar & fOdr & 9idl &1 ofd
Iy, X9 &9 yeR Hafad 2 ?

Options:
Brother

=

Hi2

Brother in law
Ei; I et

Nephew

Question Number : 9 Question Id : 5431074680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A and B are brothers. C and D are sisters. A's son is D's brother. How iz B
related to C ?

AINBYAE ZICIRND g1 €1 A FT T D & 9 1 B, C ¥ vy uspr Hafid

= ¢

Options:
Father

Brother
Hlg

Uncle
=TT



Sister

da-
4.

Question Number : 10 Question Id : 5431074681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Classroom discipline can be maintained effectively by :

BEAT STRIE BT FHIG9TCll d¥ie 4 Sufer fhar & gaar € -

Options:
Handling the cause of indiscipline strictly
, TTMETEA & PRI BT HeRal § e

Providing a program which is according to interest of pupils
, Bl 3 ® B B ATAR HTUFHA TS BT

By giving corporal puniehment
2 MRS g8 oAl

Bv involving students on blackboard
, TATCe W faenlRiar 31w g

Question Number : 11 Question Id : 5431074682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

While delivering lecture, if there is some disturbance in the class then a teacher
should :
AN qd WHY el § Y AN 8 Y e &6

Options:
keep quite for a while and then go on
. AqTSl ©Y & [o19 9N 8 o1 91ey 3R 5 3FT 9g97 =18y

leave the class
, e FT BIg AT FfET

punish those causing disturbance

s SIS e dTel BT Bl 99 o4] Tey




not bother of what is happening in the class
o e H T A1 B Y81 © 99a! T el deAl 9mey

Question Number : 12 Question Id : 5431074683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

The lowest level of learning in cognitive domain is :
GSeAS SHEE H SERTH & T=1a9 &Y & -

Options:
knowledge
S|

1
synthesis

2.
analysis

Sﬁsm

comp rehension

5 0

Question Number : 13 Question Id : 5431074684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

NIEPA is mainly concerned with :
T o HEo So Ul To T}'T'F‘T{@[ TEfeg 2
Options:

Educational Practice

Sifers 3Py

Educational Supervision
R s
Tilereh UG

Educational Planning and Administration
wifers areT v uemEE




Educational Measurement
, e A

Question Number : 14 Question Id : 5431074685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

In which of the following stages the concept of sex has been developed in

children ?

&
¥

=1 | o {59 aaven § et |5 67 (W) &1 95y [Jafgg gdar g 7
Options:

Infancy

KINEIEED)

Childhood
i HEER2 T

Adolescence

Adulthood

A

)-E Ep [T

Question Number : 15 Question Id : 5431074686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Play therapy is adopted in the education of children in order to :
gretepi o) 27E ¥ w oNdl &7 UEeT B e

Options:
Make the educational process joyvtul
R viferes uihar A=RqYl B 9@

Make education more activity centered

E_Wﬁaﬂwa?ﬁmaﬂ%ﬁﬁﬁ

Highlight the importance of play activity in education
. e 4 wd Rl & 98t U Udrel Sie]




To understand the inner motives and complexes of children

4 STADI DI ARG UNOTSH T2 Sfceant & s

Question Number : 16 Question Id : 5431074687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What a teacher should do to take care of genius students in his /her class ?
T HE ® HiawTeTen el @ cEwe @ forv e B @ B9 9ey ¢

Options:

keep teaching slow
f9TeroT ®rl BT € TEAT Ahey

should not take special care of those students

X 3 dictl @1 fa99 @9 F8f &A1 Ay

teach very fast
dall | gel A1fEy

P rovide enrichment programs

e WIAEA] DI Favd] Bl ANey

Question Number : 17 Question Id : 5431074688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Teaching style is primarily related with :
Options:

'How' of teaching
, fOremr & &9 4

"What' of teaching
) o101 & T o

'Why' of teaching
. P & ‘Fr o



‘When' of teaching
. foreror & ‘T 9

Question Number : 18 Question Id : 5431074689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which quality is most important for students ?
Bl @ AU Se-d e \aifes Ay g 2

Options:

Good Behaviour

Independent thinking
B UERERY

Obedience
. SITSTTERTINGT

Hard work
i el HEd

Question Number : 19 Question Id : 5431074690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which statement is truie for a cooperative class ?
FEarl AfEFTE @ o $FE-91 B9 §eT & ¢

Options:
pupil CEEIIT‘LPE"[E‘ among themselves
BTH U oY @ | WioRuE] @ed 8

1

pupils are allowed to present their ideas and discuss freely with one another
, BT B AR S A T W 0 g ¥ T S @ A

large amount of teacher guidance is required

~

5 s a=n 4 e Feo & Aaaadl &

pupi] work independently
, I T T U HA B B



Question Number : 20 Question Id : 5431074691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

India's first floating elementary school named 'Loktak’ elementary floating
school was inaugurated in :

YRT & WYH ¥ gU dlbad AHe UiEe [Gead B S5 ... H BT o

Options:
Manipur

, TR

Agartala

s Bl K4y ey

Sikkim

. CIIGGE]

Kerala

4 P

Question Number : 21 Question Id : 5431074692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

UNCRPD is related with :
JoUroHTodMRoToTlo Heferd o

Options:
women only

1 f}\'-'a{. H HEJ’J-' |F.|ﬁ qf[

Elementarj: education
TEE 9 9

z
special need children

. faferee ATgvasar 91 9l 9
minorities only

4. HAAHETDHT |

Question Number : 22 Question Id : 5431074693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label ; Multiple Choice Guestion
National Education Day is celebrated on the birth anniversary of :
I e A 9 4 9§ Fee 9 Rew W A9 o6 © o

Options:
Dr. A P.]J. Abdul Kalam
Blo To Yo So Iegel HA™

Maulana Abul Kalam Azad
AT Agel HeATH TG

Pd. Mahamana Madan Mohan Malviva
5 U0 HEHT HEH qia Hrerar

Arjun Singh

, I e

Question Number : 23 Question Id : 5431074694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Central Teacher Eligibility Test (CTET) is conducted in ....__.._. :
T g T9ETe Ul 9OEl (CTET) Hdmerd 811 8 ;
Options:

19 Indian languages
, 19 TR WTaralt H
22 Indian languages
D2 G ATEaEt #

18 Indian languages
18 HAag Arare o

20 Indian languages
20 HRArg | o

Question Number : 24 Question Id : 5431074695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

In July 2018 the Global Disability Summit was heldin ...._.. :
oITE 2018 H 9f¥as feemivTar oGy §H e ... d T 947

Options:



New Delhi

(=

b =] o

London
':'I El| b |

Paris

uiRkd

Question Number : 25 Question Id : 5431074696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

Atal Tinkering Lab. under Atal Innovation Mission has been introduced as a
culture of innovation at the level of -

oy

e TaER F9E & T80 ded TR @ & ... WY T T9hR W9 6
Options:
Schools

CEIEE

i

Colleges
> B T

University
5 ICEEIERIGE

Deemed Universities

£ i~ =
4 Sihg [dId[dellel

Question Number : 26 Question Id : 5431074697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In December, 2018 India's first Railway University was established at which
place ?

feweay, 2018 4 UM Yoid YATEMHET @1 o= ®el gal ot 7

Options:




Tadodara

&

S A

New Delhi

Hyderabad

T

TN E

Mumbai

=

5 I

Question Number : 27 Question Id : 5431074698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

'Samagra Shiksha Scheme 2013’ is related with :
Options:

School Education

Te=meran fore

Higher Education
SRR

Inclusive Education
H %tf:] ol TJ et

Vocational Education

] fH:”l-;i, h fQTET[

Question Number : 28 Question Id : 5431074699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

MUSK stands for -
THo Fo THo Ho P fawN 2

Options:



Madhyamik and Uttar Siksha Kosh
HIEIHE TgH 907 e &y

Madhyamik and Uchchatar Siksha Kosh
> HEOAS UgH Soomy (9T o

Madhyam and Unnati Siksha Kosh

HeH UaH Siia R B

Madhyam and Uchchatar Siksha Kosh
HEdH UgH Iy (9 B

Question Number : 29 Question Id : 5431074700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which State has the highest Gross Enrolement Ratio in India ?
WA H W U9 &1 Hehel AHEIGT U Haild g 7

Options:
Kerala
| DY

Andhra Pradesh
Y W9l

Uttar Pradesh
5 SR W 59

Tamil Nadu
4, TTHETg

Question Number : 30 Question Id : 5431074701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

LEAP stands for :
Teogolotlo @ fawR 2 :

Options:



Language Enhancement Academnnic Programme

" .8

o=dvl Hg~gHT UhsHAd AT

Leader:hip for Academicians Programme

FATSed B UhsHITeTa~d HHITH

Learning and Educating Academicians Programme

AR TS TIhfeT Ths AR Hnm

Leadership Education and Assessment Programme

5 oy .
clleXIEM U (Vs UHHHE-C HIETH

4.

Secticn B
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Section Number : 2
Section type: Online
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Section Marks: 210
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Group All Questions: No
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Question Number : 31 Question Id : 5431074702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Where did Gautam Buddha sojourned in rainy season for maximum years ?

TIdH g5 o Hailee auidrg el did fear 7

Options:
=
Sarnath

: A1

Sravast

‘q-’! e | E-‘



Kushinagar

Bodhagava

Question Number : 32 Question Id : 5431074703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

In which century, Huien Tsang visited Nalanda ?

-9 9 69 wamee] | Areer & O @ of 7
Options:
Fifth

Eighth

Question Number : 33 Question Id : 5431074704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Epithet Devaputra’ was used for the rulers of which one of the following
dynasties ?

feferiad § W 5w IoEy @ el @ [ Saga @ Uiy wgad of 7

Options:
Saka-Kshatrap

1 Mh-8H=AY



Kushana

5]
3

Sunga
Gupta
4 39

Question Number : 34 Question Id : 5431074705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Who amongst the following was known as the Grand Old man of India ?
= 8 o T alles &9 9w sftemr & 98 9 &ET T 7

Options:
Raja Ram Mohan Roy
Tl Y9 HiE {9

G. K. Gokhale
Slo o TE

Pheroz Shah Mehta
el T8 HEd)

Dadabhai Naoroji
4 = [ ':':|-|_E';: l‘kq. A

Question Number : 35 Question Id : 5431074706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Who sustained injuries and died during the demonstration against Simon
Commission's visit to India ?

IR H A WEAT HARM § Eemm famy U uieR™ @ SRM feae =@ ol
3R Geh1 7o Bl 78 ?

Options:



J.L. Nehru
, Vo Ydlo HF®

B. G. Tilak

, Hlo Sile fa®

Lala Lajpat Rai
= ATAT oAl AYT {1

Bipin Chandra Pal

Al === U

4.

Question Number : 36 Question Id : 5431074707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Whose name is linked with the "Communal Asvard” ?
"HEIEIS Ude (FFgAa Hdrs) | fhEd A oel ¢ 7

Options:
Lord Curzon
dAle T

Ramsay Macdonald
Ha HFsHos

Lord Irwin

(4 xE: .QE Q|'£|:;

Edwin Montagu
Tsfae HUey

Question Number : 37 Question Id : 5431074708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who invaded India when the 3rd Battle of Panipat took place ?
UHIE & A 8 @ 999 ARG 9N e SmpE fear e ?
Options:

Ahmadshah Abdali
| STEAGENE fsTel]




Taimur

S g
Chengiz Khan

5 RIS IS

Babur

4 T

Question Number : 38 Question Id : 5431074709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

"Adhai Din Ka Thopra" is situated in :
“SreTe foT &7 Siuer’ sEfied B
Options:

Jaipur

M

x.-—.:n':_g‘k’ H

Ajmer
HATHY H

Hyderabad
gevee §

Junagarh
TS 4

Question Number : 39 Question Id : 5431074710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Who gave the title of "Mahatma" to M. K. Gandhi ?
THo o Tl F "HETHT B I fa o 7
Options:
5. C. Bose
j, R ¥lo. dT

G. K. Gokhale
, o o T



Rabindranath Tagore
= JeEl[m A E‘f\ﬂ

Rajendra Prasad

e SR

Question Number : 40 Question Id : 5431074711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the tollowing Acts made provision for Provincial Autonomy for
India ?
MfaRaT sifafaaHt § O [Fae 811 WG &1 9= W@ & a8 7
Options:
Government of India Act, 1919
;1919 &1 YR WPR AT

Government of India Act, 1935
1935 &1 ANG IR e

Indian Independence Act, 194/
5 1947 BT IRATY AT SfEIH

Indian Councils Act, 1909
1909 &1 AN TNTS 3ffEfTaH

Question Number : 41 Question Id : 5431074712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Who levied the irrigation tax for the first time during the Sultanate period ?

Hoddd diel § Ul 9% Has-Y f5us g o mar 74T ?

Options:
Itutmish

Allauddin Khilji
> FATSEA e

Sikandar Lodi



Ferozshah Tughlag
TPRITeE gRTel®

4

Question Number : 42 Question Id : 5431074713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who was the author of "Vikramankdeo Charit" 7

P

[epAidgd AR’ & oidd $iT of 7

Options:
Kalhan

Bilhan

fi"':'«.

Ashvaghosh

Chandbardai

Question Number : 43 Question Id : 5431074714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Functional approach to management was developed by :
g & WIS greHI B fawtaa fedr T4

Options:
Taylor

*

1 Co%

Terry

, =9

Fayol

Louis Allen



Question Number : 44 Question Id : 5431074715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The goodwill brought in by the new partner is withdrawn by old partners in
their -

T WIEER BN R g8 Il R WEER] 8N Mt o 2
Options:

New profit sharing ratio
i :'F'L‘ 4 ?_r]‘_]':l g4

Old profit sharing ratio

Capital ratio
5 :-é\‘u_'rll @ 3 JuTd g

Equally
4 FLICEEC TR

Question Number : 45 Question Id : 5431074716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

What is the amount of closing stock when :
Opening stock 9,000
Cost of goods sold ¥ 1,09,000
Purchases T1,20,000
qRMAE JEfeR T 9,000
& U Al @1 @ 3 1,09,000
Y T1,20,000

Options:

. ¥ 10,000

< 19,000
z

< 18,000
i

< 20,000
4.



Question Number : 46 Question Id : 5431074717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Guestion

Under the straight line method of charging depreciation, depreciation is
calculated :

A= e 1 1 A o i e 1 1 e o1 s i ) s M= el A e o B | s T
Options:

Original cost
| e AT W

Original cost plus scrap value

Original cost minus scrap value
o TS ST — AT Hod W

Written dovwm value
AUTTEd Hod W

4

Question Number : 47 Question Id : 5431074718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The Articles of Aszociation contain :
uTE e § [fET 2

Options:

Scope of the company

FEIAT ] BIET

Objects
> SE¥

Limit of share capital

Rules and regulations of internal management

4 RS yaH & Em T e

Question Number : 48 Question Id : 5431074719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Which is the last function of management ?
g @ HfH B HE-AT @ 7

Options:
Planning
1 rl "'T;j L% ] | .

Controlling

ST

Leading
5 - e

Organising

iy |

Question Number : 49 Question Id : 5431074720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Machine Hour Rate is a method of absorption of :
A= HeT ey Hfaferg & fafr &

Options:

Factory overheads
HINET FINTY B

Administration overheads
TEMH- FUNEE &

Selling overheads
[y FUREd B

Distribution overheads
4 Taawer SuRer &

Question Number : 50 Question Id : 5431074721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Increase in total variable cost is due to :
gel UNGee ArTd § giE w1 BN E

Options:



Increase in fixed cost
; R &FTd H gl

Increase in sales

zi'*zr—frfrqu:

Increase in production
o SCTEH 4 gfg

None of the three
i A=t # H BIg A8l

Question Number : 51 Question Id : 5431074722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Debenture holders are the -
FOTTFEINT & -
Options:

Customer of the company
] HAAT T ATED

Owmer of the company

Ly
] & Hllcelde

Creditors of the company
HEA] & oG

Manager of the company
] & HaHd

Question Number : 52 Question Id : 5431074723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Management Audit is :
e Fhe 2
Options:

Optional

; Ul



Compulsory

Statutory

GEIEET

None of the three

, A

Question Number : 53 Question Id : 5431074724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Inflation is beneficial for -
ﬂﬁ ?]% -ﬁl T HG 2 h l_;r !
Options:

Creditors
. oFeR @ foiq

Debtors
oHeN @ foru

24

Consumers
—
o ST & for

Wage and salary eamers
i B2 IG 0| o}l Y4 9a- SUTSd & 1014

Question Number : 54 Question Id : 5431074725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

It GDP > GNP then net factor income from abroad is :
afE Hio So o > Wie THo o 5w ¥ UId Y& I ©
Options:

Positive
. SRR

Negative

FeUcHG
z.



Can be pDEitivE or negative
, T AT FIIHD 81 Hahdl &

None of the three

, O HH PR T

Question Number : 55 Question Id : 5431074726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Which of the following bank deposit is considered most liquid ?
=forad 5 ¥ SI9-91 96 o° Jad Ad ol AFT o T 2 7

Options:
Saving Depaosit
dgTid WdH

Recurring Deposit

Demand Deposit

Time Deposit
STafer ST

Question Number : 56 Question Id : 5431074727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Which of the following is not a cause of micro economic market failure ?

_.-'3_-1:'. ﬁ[ q.l‘[ FF._hl—'_["- r;'éﬁ['d_"u \Hﬂ%j_ﬁﬁ ..:-I\:"-!hk,-i r_”.\_,.”.{ EF[ ThT] qﬁ % T"

Options:
Externalities

) rglq?.iﬂ

Mizssing Markets
Balance of Trade deficits /Surplus
o SR G =eT/ S




Asymmetric Information
, T A ETa

Question Number : 57 Question Id : 5431074728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following is not the tunction of the Central Bank of the

country ?
Options:

Maonopoly right of currency issue

, J51 T B SN Y BT BB

Lender of the last resort

, SIT~TH SRS P GRS

Controller & regulator of credit control

. 9 BRI B R R T B M [ [l a) M A

Depositing the savings of public

, S T Il BT FTAT BT BT B

Question Number : 58 Question Id : 5431074729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

"Suppl‘_g-' creates its own demand"” statement is associated to whom ?

AT ST HIET BT W god Gl 8 BYe (e GEiEg 8 ?

Options:
Marshall

1 -
I. B. Cav

” wo dlo Y
Ricardo

TSl

o



1. 5. Mill
" To THo A

Question Number : 59 Question Id : 5431074730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The slope of the normal demand curve is :
Y | 956 T Blel BNl €
Options:

Positive

Negative

[ | L R 1]

Infinity
SR

Question Number : 60 Question Id : 5431074731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the tollowing is inferior good ?
F=feiiad 5 9 oF o< 9 g & ¢

Options:

Kerosene

1 rx“\\ C K|

Petrol

IeTa

Diezel

= Bt B



Electricity

Question Number : 61 Question Id : 5431074732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who iz the tather of Demography ?

Sifhdba w1 Oar &iF & 7
Options:
Malthus

, e

Adam Smith

, T&H [Eaat
I.B. Say
Wo dlo ¥

2.

Lewis

, faw

Question Number : 62 Question Id : 5431074733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Currentlvy, which sector of the Indian economy is contributing highest in

G D P2

a3, 9Ted @ Sile Slo Uo ¥ 79 &3 &1 OrTeE 9wdd § 7
Options:
Agricultural sector

, DY & @

Industrial sector

, ST & W



Service sector

Foreign sector

41?‘&?3?[2133?[

Question Number : 63 Question Id : 5431074734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

EKinked demand curve is the feature of which market firm ?

— -

[pia JT T fhd aTaR %E @1 fagmar 2 7

Options:
Monopoly market firm

Oligopoly market firm

5 FTIHTN I BH &

Monopolistic competition market firm

ThTTEhINcH® Tdr] aradi] B @)

3

Perfect competition market firm

T

i qol AiCAIRar arel aTR BH @l
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

In which of the following market, tirms are price taker ?
f=foritaa & 9 fog 99X | ®H @19 1 WIde B34 drell 8l g 7

Options:

Perfect market

; U giaarar aram

h



Monopoly mar ket

I:IT]'.-' :;::I'i']:.' E ] «EHQ
Z.

Maonopolistic market

G A G R G G | ESE

Oligopolistic market
4 He] Fé]fﬁ "-.i IR I
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Who gave the concept of Quasi Rent ?

AT o @ Sggu fhad o ?

Options:

David Ricardo
\% -'EI:'\g r: ri'.l \gl
1.

Alfred Marshall
2.

1.5, Mill

Yo THe fHe
=,

J. M. Keynes

af.' U]—F[O (F.l -T-(!I|
4
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Weathering involves :
ey H e ¥ -

Options:



Climate

D

Insitu break-down of earth materials

Jedl | T T cel

Bulk transfer of rock masses from one place to another place
{ieh ARG &1 U I ¥ g8 I UR ld SR

Making of Arid landforms

U[TR TP BT AT

Question Number : 67 Question Id : 5431074738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

This is the basic requirement for Davis' cycle of erosion :

I ervl W =@ & forg ghars) emavyedr @
Options:

Tectonic stability
, Tt Rera

Tectonic instability

é,‘aﬂ- -_-| o G,Tﬁrw?:l‘ s

Arid climate

TR wold ]
2 FF A

Glacial climate

RN R CEIE

Question Number : 68 Question Id : 5431074739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

This is indicator of high rate of uplitt :

Options:



Convex slope
Il olld

Concave slope

HAddel Gl

Straight slope
3 HIET gor

Concave-convex slopes

Hddod-Idcd Tcdl-

Question Number : 69 Question Id : 5431074740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Lateral moraines occur :
qred {24 Bkl 8 ¢
Options:

In the middle of a glacial valley

SES do & 9= H

On the sides of a glacial valley
e ) P B 1 M O 7 R

At the =nouts of the glaciers
I & HNcd T

All of the three

4 SIGIR R

Question Number : 70 Question Id : 5431074741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion
The word "pedon’ is associated with :
e TS HHEIYdT €

Options:



Weathering
ATET [

Alluvium

Soils

qeT |

Colluvium

” F) ?._,:P":;l £z
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

What i= the phy=ical identifying factor in granite gneiss ?
Iqrse 9 4 w7 9ifde ug9H sRe 2 7

Options:

Very large crystals

Banding or lavering of crystals
fehecol @I sSfetT a7 g

Large and small crystals randomly arranged
BIC SiX 95 fed Javae o o daned

Very small crystals
agd Bl fhited

Question Number : 72 Question Id : 5431074743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Internal heat responsible for plate movements is generated by :

Wle HaHe & oy forer SiaNe M § Sc- &rdl @

Options:



Radioactive decay

. et o

Rotational or tidal friction
t-.:lwui 7 E-'-@E S0 q[i“

Primordial heat

UEifedd gic O™

All of the three
GGl
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
Waves break -

ey fa=ue B8 &

Options:
When the depth of water is less than halt the wavelength
W O B TEUE awlas] @& AT § H B8hl 6

When the depth of water is exactly the same as the wavelength
T U F TENE NS & 9EE Bl 8

When the depth of water is more than the wavelength

o9 U BT e aeTes] | Jfge Bl B

In shallow seas

SYe WYAl ¥
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In Walter Christaller's hierarchy of central places, the K value has been grouped
mto :
daTecy fhteTa] & Hgd oigd & oA H K9eg &1 9 far 1 2

Options:



7l

e
b
z.
7
>,
3
4.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Von Thunen's theory is related to -
GG ?45__\%@ e 99T 2

Options:
Agriculture

Industries
3T 9

Rural development
qTHT a3

Urban development

Question Number : 76 Question Id : 5431074747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Odizha figures in the techmical name of this crop :

=9 A @ ddHT T H TSI urar W9El §
Options:
Rice

1 E" Lo F



Wheat

2

Sugarcane
i ¥

Maize

g, TP

Question Number : 77 Question Id : 5431074748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Amap is:
Options:
a true representation of the real world

. drdfad giar &1 #e! e

an abstract representation of the real world
aredfas g &1 S0 e

=
a false representation of the real world
, AT fa gfar &1 saeg feam

representation of the real world on 1 to 1 scale
i 19 1 %hd W IRdids gi-ar &1 &0

Question Number : 78 Question Id : 5431074749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

What brings desirable change in the human behaviour ?
deR ¥ sftod uRada 5as gny aar g 2

Options:
Education
: farer

Training

5 e



Skills

Learning

4_?-ha=n

Question Number : 79 Question Id : 5431074750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

How many types of Education are ?
forenm & fopa wabR & ?
Options:

4
1.

(5]

[

L
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In which country the word extenzion originated ?

-

THN 65 &I SART 9 <9 F g8 7

Options:
U. 5 A

o To Yo (SR

India
H¥dd Flf

China

T4

LK
4 TJEJ ?:'_ur_"-



Question Number : 81 Question Id : 5431074752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
I C.D. 5. scheme was started in the year :

amgo o Flo THo WHA fopd a¥ # Y& g8 o1 ?

Options:
197!

l__.l—l

1.

1970
z.
= 1973

1972
4.

Question Number : 82 Question Id : 5431074753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice GQuestion
Posteris a:
UNeY 8 U
Options:
Audio aid
2] HEH

Visual aid

Audio-visual aid
’?-v]%'.l—_'?é_ﬂ?? HTEH

None of the three

= § F BiE T8

Question Number : 83 Question Id : 5431074754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

MGNREGA (Mahatma Gandhi National Rural Employment Guarantee Act)
aim is :

AT T 9549y B




Options:
To give emplovment to rural
, TITHIOT BT TSR 1

To give free quipment for agriculture
FT T (STHYU) BT gud ol

z.
To give IMNOoney to penple
5 Al BT ol <l

To give free ration
, 3T X S

Question Number : 84 Question Id : 5431074755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

How many food groups are ?
Tl WHE fdbe B81d 8 7

Options:
5

1.

2. G
&

=,
3

4,

Question Number : 85 Question Id : 5431074756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
Scurvy disease is caused by the deficiency of :
Thd! Al fea®! 3eqal 9 8kl & 7
Options:
Vitamin D

G [ tl"t 5

1

Protein

.,
-

i



Vitamin C

. faeTe @

Vitamin A

4 e g
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Milk is a bad source of -
gy fFgaT avg @ © ?

Options:
Vitamin C

Calcium

ez

z.

Phosphorous

BW

Question Number : 87 Question Id : 5431074758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

WhereisI C. A R situated ?
3MEo Hio To Mo Hal W E 7
Options:
Delhi
1 TE. '.',"‘:'-'i\|
Bangalore
e
Calcutta

el
=



Hyderabad

e

£ R

Question Number : 88 Question Id : 5431074759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Which is fat soluble vitamin ?

gl | Yo faetds ®=-a € 7

Options:
Vitamin D

"'\hé

Thiamine

Riboflavin

OREEIREIE

Folic Acid
4 PICTE TRTS
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

How much extra calories are required by a pregnant women ?

TE Ao AfEel B fael SAfNad Hend $7 avadar gl & 7
Options:
400

700

500

300
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Who presided over the first session of the Indian National Congress ?
WA M1 B & 92E fadyr & STeuerdn fhad & ?
Options:

Dada Bhai Naoroji

. STETTS AeTall

W. C. Banerjee

Ferozeshah Mehta

fthRTaTeTe HeEdl

=1
A O Hume
To #Ho B
4 =
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Fascism was born in which one of the following countries ?

HTEE B WA FEfeRad | W 9 U < Hogem oy ?
Options:
England

-gE. "'1:.’ [

France

T

Italy

Germany

4_3114"-%
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Cuestion Label @ Multiple Choice Question



Annie Beasant was associated with -

o S ey g of 7

Options:
Cha mparan Movement

TR Ao 9

Non-Cooperation Movement

FHEATT ATEed 9

Quit India Movement

TR Blel AT5le 9

Home Rule Movement

4 2 & A=idd 9
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Cuestion Label @ Multiple Choice Question

Whao certities a Money Bill in India ?
¢ faegs @& Yvg ¥ B9 Seiid $Yar g 7

Options:
Finance Minister

forey

Finance Secretary
'.C-t' T QZI ’I Ti] G

Speaker of the Lok Sabha
Al 4T &1 ey

Govenor of the Reserve Bank of India

, N & Rt ¥ w1 T
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Whao is regarded as the father of Public Administration ?

fhy Tep T2 &1 F9d 919 Al & °
Options:

Henry Favol

Luther Gulick

Woodrow Wilson

gevI faeam

Herbert Simon
4 Evgc HIgHT
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Cuestion Label @ Multiple Choice Question

73rd Constitution Amendment Act in India is related to -

W ¥ SiauE 7 7397 "9y e g=eag 2 7

Options:
Defection

1 GO SGC F

Panchayati Raj

; .
=] EL;F“;I ia
z.

Urban Government
o 2Ie4] T ?*'

Domestic violence
4 \ (ri\ F‘: 1 :‘ﬁ
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Cuestion Label @ Multiple Choice Question



Which of the following commission was appointed by the Central Government
on. Union-State relations in 1933 ?
Feaq & ¥ o ST &1 = WNeR F 1983 F H9-3reg W9y & forg g fean
or 7
Options:

Sar]s:ari}*a COIMUINISs10n

1_maﬂﬁmaﬂ7hﬂ

Thitt commission

G AR

Setalvad commisszion

"{'. EE IC'! '\E| \-L:? -:i- ]

Rajamammar commission
e
4 NISITATIY ST
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Cuestion Lakel : Multiple Choice Guestion
Which of the following is not a feature of preszure group ?
=T H ¥ S0 39 S91d 9HE $1 T8 8 7
Options:
It tries to intfluence from outside
g 9T8Y U JUIfad oY BT AT HRal 2

1.

Its 1119111bers.11ip is large
TS Fewdl 9ol Bl &

It actively joins political parties
a8 |ishd a9 oS Wil @

Its members can join any number of groups
59® How foha- H 9981 9 JS Aed @
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Cuestion Label : Multiple Choice Question

Think tank of Government of India that replaced the Planning Commission is :
ge fagsi & giafa g ara=r amarT o giowenfia &b
Options:




NITI dharma
1 =i &9

NITI Vakya
o T AT

NITI Shashan
_ i

NITII Aavog
o T ST
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Juestion Label - Multiple Choice Cuestion

Which among the following is not true about the Estimates Comumittee ?
e § W -9 719 URhorT |igfa & fov 8t 98 e ?

I. The first Estimates Committee of the post-independence era was set up in
1950
Il W U WA HIeRRe Wi @1 e 1950 § g o |

II. Estimates Committee has a right to question the policies approved by the
Parliament.
UTeRRel Witd @1 HHE 8N AgAad Aladl W H 9o @ AHER ¢ |

I It consists of members that are both from Lok Sabha and Rajyva Sabha.
TE M 99T Ud AT WET aF1 aadl ¥ AT 26 B

IV. Chairman of the Estimates Committee is always trom the Opposition party.
Options:
Only IV
1. RIERAY
Only III
Z BRI

Only II and IV
5 AEOTE IV

Only IT, T and IV
o AT 1L I g IV
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ouestion Label : Multiple Choice Question

High Courts issue writs under Article:
ged el | {5y =g & 3fdiid e G @ @Il ©

Options:
220



